(3) A
HT-1I/PART -1

i o 9 3T/ CHILD DEVELOPMENT AND PEDAGOGY

FRsr : [ g7t & aov 37 & g 9@ Directions : Answer the following questions
T faweq 3732 2 by selecting the most appropriate option :
1. oW e =ik & Saw § o 1. Present day education cuts off the
? i man from life because
(1) 78 e o quy o 46 T (1) it is not an integral part of life
(2) 98 AR B T-9F 3 § orewd (2) it is unable to provide bread and
T butter to man
(3) & AR &l bl 2 F aromd B (3) it is unable to provide job to man
(4) T8 AR P TEYd ATEHTSH I (4) it is unable to fulfill the basic
Eﬁf T A B _ needs of a man
2. fRrerr & MY Ghed T B AR, T 2. According to modern concept of
HEATGEH B =g gﬁiﬁﬂ o @Ry teaching, teacher should play mainly
the role of a
(1) =it (1) Philosopher
2) = @t (2) Friend
(8) HETEAFY Bl (3) Working partner
(4) 3E (4) Instructor
8. & g W waEife CICIREIC 3. Which source will provide maximum
ekl fhe Hi9 & w2 R 7 and up-to-date information about a
subject ? _ :
(1) fasaepar (1) Encyclopaedias
(2) = (2) Internet
(3) T STEFEfEE UBEHT (3) Latest academic journals
(4) SIS T (4) International conferences

Cat.-3/42 : P.T.O.




4. YR BT H F\ BRI B AW YT d

BT A T M ST @M G hiwd
F & o DA IO BT 7

(1) B-ar arifRes fear sar

(2) Nl W B T FeT B ST B

(3) T B A TN B [ FB
(4) FET & Q@ B [T HoT

S SIS GAT A HEI-HE H UAd B
al IH oI FHEN AR

(1) fem@ s@q $ R A

(2) frEe™ & g & R A
(3) UEAYE B R H

(4) 9N wd B H R H

Tere it &y =ene 08 few @ el
i1l

(1) ghwEr Ren o
(2) engatye fare wene
(3) T Bivgd & Ol

(4) BTEHAT TIe SoTEt

Cat.-3/42

(4)

4. Some students of your class have

become inattentive; which strategy

would you use to regain their attention ?
(1) A brief physical activity

(2) Suspending the class for

sometime
(8) Asking children to be attentive
(4) Sending the class out for games

When a teacher enters in the class
room for the first time he should talk

about

(1) school building

(2) school headmaster
(3) textbook

(4) himself and students

The education system developed by
Mahatma Gandhi is known as

(1) Basic education system
(2) Vocational education system
(3) Child centred education system

(4) Handicraft education system



10,

8) g A ar a= B SR B

(8)

NEAGH. H BH-AT HE arfery

AR & H Heg 787 Fear 7
(1) =9 S G B G

(2) goe B WA B WG A1

&
(4) s B o
Bt & @ Si9-a1 o6 & A @ HR
7T &rar ?
(1) oTERERT feremerdt iy
(2) STEATH B TEIRTLTT HFIGETT
(3) wgd w e F
(4) 9ga e gfear

T AYNE TH B B ghedl H

FEU™E B & A 9 IWN H &
g ®

(1) qeRar & f7om
(2) ¥ & a9 #
(3) a9 % Fred @ |
(4) A TRAT B 9 B

gpfare & Igar fen @ dw @
=ifeq

(1) 1T

(2) T

(3) EHHA

(4) I F | B T

Cat.-3/42

10.

A

Which of the following acts of the

teacher does mnot help in creating

proper learning environment ?

(1) Providing the children with
feeling of security

(2) Giving the children sense of
freedom

(3) Allowing children to criticize
other children

(4) Making children fearless

Which of the following is no# the
cause of truancy of students ?

(1) Uninteresting school programme
(2) Teacher’s partial behaviour
(3) Too much home work

(4) Too many holidays -

When a teacher gives the learner the
sense of success, he is using

(1) the law of readiness
(2) the law of practice
(8) the law of effect

(4) the law of mental set

According to Naturalism, the centre of
education should be

(1) Teacher

(2) Child -

(3) Curriculum
(4) None of the above

. P. T{O-




11.

12.

13.

14,

sl e % w B A gp A 6
dEd T Y 9Ee O 3El F9el
Ha ?

(1) & 7 e & [ F&

(2) I 9o W

(3) THE UL BT |

(4) 3T Rigae ¥ oF w@ oEet &%

gEgEE g= @ Rer # R aEes
PICCIG I

(1) Frgar & U I e a9
(2) el =R &

(3) A B TIE

(4) Tafire foEmeral 1 waem B

T R iy, 1986 F STHAR e
W PR FW USE SEd # AR
2T =Y

(1) 6% (2) 10%

(3) 4% (4) 3%

W I BT de @ e ST
el wearell § | HO AR St
FYAT B UF HHAUF D Gq H AGhH T
fafsar 2et 7

(1) wfErE 3 &R wer w8 i

(2) Pl 3 gATER & o &

(3) franfeidl @ #5010 B 3 @ qErd &

(4) T 9 = F w7 § @@ H00

Cat.-3/42

(6)

11.

12.

13.

14.

A student of your class is in the habit
of telling a lie. How would you deal
with him ?

(1
(2)
(3)
€

tell him not to tell a lie
punish him
just ignore him

will take him into confidence and

counsel

The best provision for the education of
the talented children is

(1) Ability grouping

(2) Giving double promotion
(3) Enriching programme
(4) Providing special schools

As per National Policy on Education,
1986 percentage of national production
must be invested on education

(1) 6% (2) 10%

(3) 4% (4) 3%

School administration assigned you
some extra classes which are meant
for weak students. What will be your
reaction as a teacher ?

(1) Protest and not take classes
(2) Request reconsideration of
decision

(3) Tell student to prepare on their
own

(4) Accept it as your responsibility



15.

160

17,

(7)

AT B IS & @Y § e gome

& IR T fFrafoled st @ e wY

A, GIT WM B H I8 TH P
frem 21 '

B. Rl @ e e sfe q
g % fee 9T w0 3g we w
qEget s 1

vﬁﬁﬁﬂﬁ?ﬂ%ﬂ?ﬂ@?%?

(1) %WA (2) %Ed B

(3) ATMBAN (4) TATB
Reerer 0 5o 0% A o Rrers

(1) el ® gl A AMRY

@ B B ARG T Y ¥R E
aﬁ%q .

(8) M-YT H W% HIAT FRT

(4) BEl & U WA B T Fe =@fze

ﬁwmﬁwe@aﬁﬁswﬁw
T Jomr § 9¢ uE 787 & o ey

(1) THTT YT B & T4 GAT b
& FT I

(2)%&%@%%?&?@%3%@
3p HT AT

(3) BEl & IHA T BT I

(4) BEN )l Sfe PR

Cat.-3/42

15.

16.

17.

(1) Aonly

A

Study the following statements about
lecturing as a method of teaching :

A. It is an efficient method of  giving

information.

B. It is an efficient way of making
students think critically.

Which of these statements
correct ? ‘

is/are

(2) Bonly

(3) Both A & B (4) Neither A nor B
Before starting to teach ‘a teacher
must

(1) make the students stand |

(2) make
ready

the students mentally

(3) clean the black board

(4) ask the students to keep silence .

While teaching if you realize that
what you have taught is not correct,
you would

(1) leave the topic unfinished and
shift to another

(2) tell the students that it was a

mistake and correct it
divert the

students

Scold students

3) attention of the

(4)

P.T.O.




A

18.

19'

20.

ol wi # fFrom @ ooy e |
ST TE HX Ul MO B TR B
w9 W Y G B T Hed ¢

(1) SO0 @20 5 od @ B 9aw
TE B

(2) I G BlsHE M H - TEE
F Hl HEA

(3) ITH ARTEH B AR AT B

(4) JE8 Fe 5 g T H O ofeer
e HC ghdl & AR I TRl

TR CIS IS S AT M 1o SR G o =R
78] & ST gl Hife

(1) S TS T T B

(2) oERlsT AR oAy 3

(3) o e fodwst & & e o
el B

(4) U ° 9 gl

U T ARAM P 3T gL AEAE

(1) &= H M & =R

(2) TR e =R

(3) dr # e qed =y

(4) o1l - geaHl @Ry

Cat.-3/42

(8)

18.

19.

20.

Salim is very good in Music but is not
able to do well in Mathematics. As a
teacher of Mathematics, how will you
handle Salim ?

(1) Tell him that Music does not have

a future

(2) Tell him to leave Music and study

Maths
(3)
(4)

Call his parents and talk to them

Tell him that he can do well in

Mathematics and explain the

Mathematical concepts to him

A talented child can rot be identified
through observation because

(1) observation is not an objective
technique
observation is a  subjective
technique

(2)

(3)

observation is used by those who
are expert

(4) All of the above

While delivering a long lécture what a
teacher should do ?

(1) Should break in between

(2) Should speak continuously

(3) Should ask questions in between

(4) Should change own posture



21‘

22.

23.

ST HT P W TSH F B Wew §
¥ R e W F o AR B o
et B 1 oMY IW F st & °

(1) defhal & OF T ¥ HE Aoy
T '

(2 T FF o O 3y weR
qREd & AR

(3) 39 % UeR ¥ &M e @ e

(4) EfEal Sl F Iepe TE B el

mﬁﬁa%rsnﬁﬁzﬁm%m?a%ﬁ%

I & R @-a1 o7 a 78 R 7
(1) iz dEe i g B
(2) Y& 99 & B A anear &

(3) g R e A Ferr 3

) I T uRRAR & @ ST
F A 3

Geifee g e vl ¥

(1) i ol g
(2) GY&H qlen STt
(3) HHEY YOI

(4) TR Y T

Cat.-3/42

(9)

21.

22,

23.

A

A girl of your class is interested in
sports and wants to pursue her career
in sports. What will you suggest
her ?

(1) Girls have no future in sports

(2> She should put in hard work to

achieve her ambition

(8) Ask her to be focused only in

academics

(4)

Girls can not excel in sports as

they are not physically strong

Which is not true about intelligence ?
(1)
(2)

Intelligence is the ability to learn

Intelligence is the ability to solve
problems

Intelligence is the ability to work
hard

@)

(4) Intelligence is the ability to adapf

to novel situation

The most effective evaluation method
is '

(1) Annual examination method
(2) Examination with book method

(3) Semestral method

(4) Objective question paper method
P. T. 0.




24.

25.

260

A, WIEE UNlgeld) &9 HiEd
B. < dr (ii) o= AT
C. = (iii) g99-%& weA
D. AR R&ET (iv) F&9oT dqrg-
A B C D
(1) (Gv) (1i1) (1) (ii)
2) Gv) G G @
(3) Giy  Gv) G @
(4) (1) Gi) G (i)

T @S TRiE B A 8

(1) ofp-gfe @ e S .
CIRII SIE S

(2) SAH B T e BN R S
el e

(8) @4 oy % *E W

(4) Prmdl & waRs w4
- wedwRE ST @ i

gegell F B ¥ T A AR A |
fefi 8l & 5 a8

(1) zhEerma o J 8l
(2) g8 foRam orewd ¥ @
(3) T Foram ored &
(4) el frar oaen 7 @

Cat.-3/42

(10)

24,

25.

26.

Match the following :

A. Slide Projector (i) Visual mean
B. TV

C. Chart

(11)Audio mean
(111) Audio-visual mean

D. Voice Recorder (iv)Projective mean

A B C D
L Gv)  GiE) G G
@) Gv) G G @
(3) Gi)  Gv) G )
4) @) (11) (i11) (1v)

The term 'comprehensive evaluation'
means

(1)

Evaluation conducted at sever‘al

points of time

Evaluation by a group of teachers

(2)

(3) Several test for long duration

(4)

Evaluation of curricular & co-

curricular aspects of pupil growth

The
serially is developed in the child when

capacity to arrange objects

he is in

(L) "Senscn‘.y motor stage

(2) Pre-operational stage

(3) Concrete operational stage

(4) Formal operational stage



27,

28.

29.

30.

ST MRS & ARG F qo™ B
[qQ TeA9% H 787 HT AR

(1) @-Frar &l dieafzd s
(2) @ i WG F SR wen
(3) G & HiEm &l e B

(4) |MAFIEHTT R & 37

WE PiE qE Ul UK B T ISR
FHAT B Al MY A By 7

(1) F1 5 W 59 9
(2) Y= I=RT I
(3) TG IERT F [T I S

(4) =T & AT
SR O A AT S 2

(1) werar

(2) "ol 9y @ faa
(3) ®YE @ W

(4) @ = fea

BEl H o8 TG & T Y wHied
8 ST T ¥ 7

(1) 3% o IFREar W AT 35
(2) 3% USH TEH § IR Fe
(3)6% EREC I C e T

ST WD
(4)‘G%Wﬂﬁﬂﬁﬁmw

(11)

27.

28.

29.

30.

A

For enhancing the ability of transfer
of learning the teacher should not

(1)
(2)
(3)

encourage self activity
encourage the habit of rote learning

develop the hablt of learning by
insight

(4)

emphasise on generalization

When a child mispronounces a word,
what will you do ?

(1) Tell - don’t say like this
(2) Tell the correct pronunciation
(3) Rebuke the

pronunciation

child for wrong

(4) Ignore

The basis of effective and successful

. leadership is

(1) Appreciation

{(2) The interest of entire group
3) Service of group

(4) Self interest

How the virtue of good citizen can be
inculcate among students ?

(1) By lecturing them on good

'~ citizenship

(2) By familarising them with
national heroes

(3) By assigning them  some
community service work

(4) By familarising them with Indian

Constitution

Cat.-3/42

P.T.O.
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1T - 11/ PART - II
7T - 1 (f&+<)/ LANGUAGE-I (HINDD

31. Fr= § T R & wEiEEEl q= HOwE

[

(1) Harfep=, RiRel, B
(2) T, FBraer, s
(3) wMH, iteral, X
(4) dRar, e, TRl

Pt sreegm 1 gl ot g
T -

(1) IEE - g8

(2) Hed - IE

(3) TF daied FTOM - W
(4) & ARy - fivEd @

32.

e’ T ®

(1) =FT &1 e (2) B/R

(3) 9 WYF (4 I

S o A i = g

(1) g (2) Fa

(3) & (4) HaH

Fr-ar = Qe 787 8 7

(1) | (2) 94

(3) ST@Td (4) T

FrElor srgifofiga Ty @ 9eHET R T 79
(797 To 36-39) # FuX HEG SfHT [AEH
FTHT T -

o X gH T S @ AN, ArE-Has
BRT JERT UF S T Sl & A, &1
qad T a9 § fraifua & W 9w 3 &

33.

34.

35.

Cat.-3/42

qe ot o WY WS B oI} I & A
B g FRT 2 7 @ a@ ¥R qoRdEr A
G B H Y FHA Fel AN e ° A

50 39 @ & T, @ e @ o B
oW e oAy ¥ Ry W@ ¥ - R WS
i qepear (IR W H gHe AN @ am) | A
dar, Qead @ SRl war aF #§ gH @
¥, SuE yge, Sud v o @ g, AL W
mmaﬁiﬁ?ﬁwaﬁrwwﬁﬁﬁw
5 ondie o gear g, Uwd iR et I
Fa-ue Ted £ A tEd diw oo @ g,
sl Frated Ted @ Fer 21 R At & di
€, 3 Wi W A & AR €, d gE A
§ 9 e AR g, WA oy A @
08 ¥ sied g AR s aEl 7 s
§ QT A AW IR BBl T8 o € R
deiaR T e gad gg w4 g o
gl AR A R ¥

36. ‘gHare’ @ fEH B

(1) FHeT (2) T

(3) onslE JHR  (4) el IEE
37. W= @ el R
(1) 3@l ¥ e & T
(2) §@ T Y@ al &l uier
(3) FRET A
(4) SZFS @ T &




I T & AR F A€ Hoawd &
(1) Sgd STEE! e

(2) sgd SrsmEEl e

(8) @gd ¥

(4) g Jeifed B

38.

T SEY AT 99 ¥

(L A W F T
(2) | g & T
(3) o~ Ugad g

@) IRF F q A T8
R - s T #F TEHT BT 7 ged

(797 Ho 40-44) F Fuv FEH IR AwY

By a0 & o9 % @Y @ed e I,
e T FiRET w9 ¥ A & e B
BT A oAl Ao Fefa g wean ¥
T 9% R FeeE sagd @ iRy sl @
SFOTT P AT A e 1 Rl @ g
e e ¥ sgd wma Ao 8 Ry 3
Bl T dEE TRad R T wwE B
SUH T FB HAA ¢ T 4T B SO T
T WO B § R T e @ R o qx
A W T BT | S 9% T W W e
qRPATEY 3 e W FY 3 a9 a% I s
Wl El 99 @ orrH % §wg 9§l
e qo-o § e 26 v ) R @
T R G e TEEeN ®d ¥ g g
SEE I Al F oS Aw ol B, & el
SR THM F @ T UEEE o o q% A
qe & AR I qeE ARET P e 3 aw
% 9 B 2|

39.

Cat.-3/42

(13)

A

¥ e € B @ B ae e R w49
TE T e qEAE & ARl 2 S e g, 3
& g B aReRRE ok ofy R
w9 ¥ | goRE ¥ owEe B Y T e
WP T 8 — o A oye 4 ged St
RS I R R B T
‘Gﬁw@w’ﬁ@m%ﬁmeﬂr
-Ed R R 7 |

(1) St = saaar )

(2) ET i FreERa ®

(3) Sa ® &OTHRAT W

(4) Sugr & W |
e Wit § 69 hime "o wy Y 7
(1) Rl & & &

2) Rl % gt A

(3) Riw % ot &

(4) Ty & qmenet &t
et & foem &

(1) 3y (2) STERt

(3) Frmy (4) ¥

qEH F ATAR ST B Y g 3
(L By &

2) " %

(3) a6~ %y

(4) T A *y

fery gog 1 e grar ¥

(1) ds ¥ (2) e A
(3) W&l (4) 981 &

40.

41.

42,

43.

44.

P.T.O.




45.

46.

fodl ey & oTER e sl 1 uEl
F

S, T, S, Al

(1) 9, FEEE, SO, SEd

(2) Sl FHERE, SO, Sl

(3) W, ST, Sied, SIS

(4) el s, SERT, TS

TR g S AR gl € ¢ gai
fedhe o & wRa Sfad ¥ | it s H

(14)

53.

54.

55.

R e & R ofud watmEr g
‘W?ﬁ’

(1) 9IR&T (2) afser

(8) et (4) g

‘G Pt T geEr # e ®

(1) SR gfssar i

(2) TR SioRdel B

(3) TR T T

(4) TTEGT =l B

P g By gy 78§ °

(1) SHRFEEE  (2) T (1) ST e et ¥ fb oned
(3) TMREEE (4 L AT (2) UEH ST a@m SO AT RBT ol |
47, ¥ + T @AY A= B (3) g9 gEed o= A Fiie g Fed &l
(1) ot (2) aﬁsg' (4) TN {g(—'ﬁ & RO A & T |
(3) Tg= (4) oFire 56. ‘AET & A W& g¥ q & o
48, g oo @ @ e € (1) wxare = H
(1) I + (2) I+ + A (2) 9 B
3) T+ T (4) A+ () R TH I &
s (4) MR &
49. ‘s’ H IwEE @ . r
(U U @) T 57. B F @ g Al B
(3) (4) WA (1 & 2 3
T s (3) = (4) ¢
50. Pl § @ gael @ afte A g & g .
() T (2) I 58. ‘e F WD ©
(3) PHARET  (4) TFIAA (1) ¥ + I (2) W + I
(3) T + T (4) W+ e
51. B0 = B ol F GE A B
(1) ey, e, T 59. ‘g 9= i faH g
@) foy, R, 45X (1) I (2) ST
(3) o1%F, e, [ (3) & (4) ST
(@) 1, W, TS 60. [ 9=t 7 § T o= ®
52. “THENl H WA & (1) T 2) W@
(1) TGHS (2) &= (3) W&l 4) 7=
(3) agAle (4) STl

Cat.-3/42
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{[ - I/ PART - I
HIST - 11 (735) / LANGUAGE-II (ENGLISH)

61.

62,

63.

64.

'He hardly works.'

The 'un_derlined word means
(1) érduously (2) Iﬁostly

(3) scarcely (4) strenuously

Choose the correct word for the

following phrase :
'Fear of foreigners'
(1) Hydrophobia
(2) Xenophobia
(3) Homophobia

(4) Claustrophobia

Give one word for “That which can be

eaten.’
(1) edible (2) chewable
(3) palatable (4)- digestive

She had a headache; otherwise she

would come
would have come
(3)

came

will come

(4)

Cat.-3/42

65.

66.

67.

68.

69.

Which sentence is incorrect ? -
(1) Tleft without any one knowing.

(2) T hope you will excuse my leaving
early.
(3) As he was going up the hill, he

saw an old temple.

(4) 1 dislike your behaving in this
way.

Complete the given sentence :

'The human body is like an engine. It

requires fuel to ......
(1) work (2) keep it going

(3) runfrom (4) keep it on action

He ............ not oppose me.
(1) dare (2) dares
3) did‘dare (4) was dare

Choose the correct Artic_le for the
blank :

‘Give me ........ yellow teapot which is
on the table.'

(1) a (2) an

(3) the (4) Zero article
They told me that he ........ in Jaipur.
(1) were (2) was |

(3) will be . (4) can be

P.T.O.




A

70.

71.

72.

73.

74.

75.

~ you.
(1) who (2) that
(3) he (4) which

(16)

His score is higher than

.........

(1) you (2) yours

(3) your (4) yourself

Choose the correct Pronoun for the
blank :

'He is the only person can help

Choose the correct Preposition for

the blank :

'One must abide ........ one’s promise’.
(1) in (2) by

(3) for (4) to

Ihave been here ............... Monday
(1) from (2) since

(8) for (4) till

Change the Voice of the following

sentence :

"We were let go.’

(1) They let us go.

(2) We were let to go.

(8) They were let us to go.
(4) Let us go.

Which word is wrongly spelt ?

(1) believe (2) relieve

(3) brief (4) decieve

Cat.-3/42

Directions : Read the passage given below
and answer the questions that follow
(Q. Nos. 76 to 85) by selecting the most
appropriate option :

Conversation is indeed the most easily
teachable of all arts. All you need to do in
order to become a good conversationalist is
to find a subject that interests you and your
listeners. There are, for example, number
hobbies to tack But the
important thing is that you must talk about

less about.
the other fellow’s hobby rather than your
own. Therein lies the secret of your
popularity. Talk to your friends about the
things that interest them and you will make
your reputation for good fellowship,
charming wit and a brilliant mind. There is
nothing that pleases people more than your

interest in their interest.

It is as important to know what
subject to avoid, as what subjects to select
for good conversation. If you don’t want to
be set down as a wet blanket or a bore, be
careful to avoid certain unpleasant topics.
Avoid talking about yourself, unless you are
asked to do so. People are interested in their
problems, not in yours. Sickness and death
bore everybody. The only one who willingly
listens to such talk is a doctor, but he gets
paid for it. To be a good conversationalist
you must know not only what to say but how
it.

overemphasize your

Be civil and modest. Don’t
Be
mentally quick and witty, but don’t hurt

to say

own happiness.

others with your wit.



Finally, try to avoid mannerism in your
conversation. Don’t bite your lips, or click
your tongue, or roll your eyes, or use your
hands excessively as you speak.

76. The secret of your popularity lies in
(1) cultivating good hobbies

(2) being able to converse about what
is of interest to the listener

(3) having a knowledge about a large
variety of hobbies

. (4) talking about your hobby

77. The secret of becoming a good
conversationalist is

(1) talking about problems

(2) avoiding mannerism in
conversation

(3) using your wit -

(4) knowing what to say and how to
say it

78. A doctor is the only one who readily
listens to conversation about sickness
because

(1) itis his job and he earns from that

(2) he is not interested in anything’s
else

(3) sickness and death interest
everybody

(4) he is a kind person

Cat.-3/42
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79,

80.

81.

- 82,

A

Courtesy and  politeness are
recommended through which word in
the passage

(1) willingly
(2) civil
(38) overemphasize

(4) None of the above

To become a good conversationalist,
you need to

(1) find a good teacher -

(2) find an interesting subject

(3) practice the art of conversation
(4) converse about what you and the

listener find interesting

You should avoid talking about
yourself because

(1) you are a bore

(2) it will make you appear
unpleasant

(3) you don’t know how to choose the
subject of a good conversation

(4) people are not interested in you
or your problems

‘Mannerism’ in the passage means
(1) not hurting others with your wit
(2) having good manners

(3) gesture or way of speaking typical
to a person

(4) using polite language '




83.

84.

85.

86.

Which word in the passage is the
opposite of ‘arrogant’ ?

(1) watty
(2) mentally quick
(3) conversationalist

(4) modest

What pleases people most is

(1) your  rveputation for  good
fellowship

(2) your clever use of language

(3) your taking interest in what is of
interest to them
your brilliant mind

(4)

Which word in the passage means to
strongly stress that something is
particularly important ?

(1) overemphasize
(2) mentally
(3) excessively

(4) mannerism

after ten years in the

business.

(1) wise

(2) wbisest
(3) more wise

(4) wiser

(18)

87.

88.

89.

90.

Choose the correct Adverb for the
blank :

‘The sun ........ rises in the east’.
(1) sometimes
(2) often

(3) always

(4) rarely

The dumb ............ not speak.
(1) has (2) does
3) is 4) do

Choose the correct Phrase for the
blank :

"The craft in which I sailed rapidly

.......... the open sea.'

made out

(1)

(2) made up

made for

(4) made off

He is poor, he is satisfied with

his situation.

(1) yet (2) but

3) so (4) while

Cat.-3/42
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HET-IV/PART -1V
HHISMEE /SOCIOLOGY

91. o8 fresH @ wod Y= fadw @
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95. & TR, I 4§ %9 5R B & 7
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(4) IFITERe e e 4
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@ 7 q BT
92. U WEW & W YE T &

(4) gewed T=i |

93. TEA F G H o Fend, fasara
M FTER-ZTIRR H A% T B TGRT

91.

92.

93.

94.

95.

The most important feature of a good
sample is
(1) Small (2) Representative

(3) Large (4) None of these

Samuel Stouffer’s study of reference

group dynamics is associated with
(1) Criminals (2) Soldiers

(3) Workers (4) Street children

The tendency to see one’s own ideas,
beliefs and practices superior to that
of others is called

(1) Xenophobia
(2) Self orientalism
(3) Ethnocentrism

(4) Egocentrism

Which one of the following categories
are of achieved status ?

(1) Caste (2) Sex

(3) Social work (4) Age

How a city is different from a village ?
(1) Increased secondary occupation
(2) High birth rate

(3) Immobility of occupation

(4) Informal social control




986.

97.

g8.

99.

100.
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AT e hae e ?

(1) e ud us
(2)
(3)
(4)
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96.

97.

98.

99.

100.

Who wrote the book "An fnéroduction
To The Science of Sociology"

(1) Maclver and Page
(2) Gillin and Giliin
(3) Park and Burgess
(4) Davis and Moor

Which one of the following ts not a
requirement for a community ?

(1) Sense of belongingness
(2) Geographical territory
(3) Formal relation

(4) We feelings

Which one of the following is nrot a
component of culture ?

(1)
(2)
(3)
(4)

Cultural traits
Culture complex
Culture pattern

Cultural relativism

Which of the following is the formal
agency of Social Control ?

(1) State
(2) Laws
(3) Reward & Penalty

(4) Public opinion

According to Westermark, what is the
primitive form of marriage ?

(1) Monogamy (2) Polygamy

(3) Polyandry (4) Polygyny
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1020
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104.

105.

106.
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101.

102.

103.

104,

105.

106.

A

The correct order of cyclical change of
three 'cultural attitudes' given by
Sorokin is

(1) Ideational, Idealistic, Sensate
(2) Sensate, Idealistic, Ideational
(3) Sensate, Ideational, Idealistic

(4) Idealistic, Ideational, Sensate

The numbers of ‘Varna’ is
(1) two (2) four
(3) five (4) eight

Which one is a ‘Purushartha’, among
these ?

(1) Dharma
(3) Varna

(2) Ashram
(4) Satva

Which theory of origin of caste is
supported by Nesfield ?

(1) Occupational theory
(2) Traditional theory
(3) Brahmanical theory
(4) Racial theory

The way of understanding based on
Science is called

(1) Natural Science
(2) Positivism
(3) Functionalism
(4) Criticism

Whose statement is “Sociology is the
study of social facts” ?

(1) Peter Berger

(2) P. A. Sorokin
(3) Karl Marx
(4) Emile Durkheim
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112,
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(4) =Ty
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v,

()

ﬂr\'\ 107.

108.

109.

110.

111.

112.

Point out the primary group
(1) School (2) Jail
(3) Family (4) Industry

Who started ‘Shuddhi Movement’ to
bring back those who had changed
their religion from Hinduism to some
other religions ?

(1) Brahma Samaj

(2) Prarthna Samaj

(3) Arya Samaj

(4) Radha Swami

The form of Hindu Marriage in which
neither is the consent of parents
necessary nor are the rites, is known
as

(1) Brahma marriage

(2) Prajapatya marriage

(3) Gandharva marriage

(4) Asur marriage

Which of the following factors is not a
hindrance in national integration ?

(1) Casteism

(2) Regionalism

(8) Communalism

(4) Urbanism

Who among the following has
preferred calling the Scheduled Tribes
as ‘Backward Hindus’ ?

(1) G.S. Ghurye

(2) Sachchidanand

(8) T. K. Uman

(4) Shyam Lal

Who is related with the concept of
infrastructure and superstructure ?

(1) Weblen
(3) Spencer

(2) Spengler
(4) Marx
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116.
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113.

114.

115.

116.

117.

A

Which of the following tribes is not
found in the North-Eastern region of
India ?

(1) Naga
(3) Bodo

(2) Ruki
(4) Khasi

Which of the following books is written
by Max Weber 7~

(1) Principles of Sociology

(2) Protestant Ethics and Spirit of
Capitalism

(3) Social Structure

(4) The Suicide

Who of the following has coined
the concept of ‘Reference Group’
originally ?

(1) Emile Durkheim

(2) 8. C. Dubey

(3) Herbert Hyman

(4) R. K. Merton

Who said “Role is dynamic Vaspect of
status” ?

(1) T.N. Madan

(2) Mckim Marriott
(3) J. Frazer

(4) Ralph Linton

Who is not related with the ‘theory of
class struggle’ ?

(1) Dahrendorf
(2) Cozer
(3) Marx
(4) Weber
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118,

119.

120.

121.

122.

When competition does not follow its
norms then it gets transformed into

(1) Co-operation

(2) Assimilation

(3) Conflict

(4) Compromise

Sociological concept which is most
closely related to social inequality is
(1) Social classification

(2) Social differentiation

(3) Social categorization

4)

Social stratification

A society characterized by the absense
of barriers to social mobility, is called
(1) Dynamic society

(2) Open society

(3) Static society

(4) Close society

The first name of ‘Sociology’ was

(1) Social Science

(2) Sociology

(3) Ethical Science

(4) Social Physics

Who has described Society as a web of
social relations ?

(1) Merton

(2) Cooley

(3) Maclver and Page

(4) Parsons
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A

123. Which of the following meanings of

124,

125.

1286.

127.

128.

‘Society’ is correct ?

(1) a group of people

(2) organization of a society
(3) organization of relations

(4) None of the above

‘The Hindu Marriage Act’ was passed

" in the year
(1) 1955 (2) 1954
(3) 1958 4) 1976

The usage of ‘Mehar’ is, in

(1) Sikhs (2) Muslims

" (3) Christians (4) Buddhists

“Caste is a closed group.” Who gave
this definition ?

(1) Kapadia (2) K. Davis
(3) Majumdar (4) Cooley

Which the
Westernization in India ?

(1) Ethnocentrism

explains process of

(2) Reference group
(3) Accommodation

(4) Assimilation

Modernization refers to

(1) dress style ‘

(2) advancement in science and
technology

(3) life style

(4) ::idOpting more western values

P.T.O.
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129.

130.

131.

132.

133.

Famous book “The Decline of the West”
was written by

(1) Arnold Toynbee

(2) Parsons

(8) Ostwald Spengler

(4) Veblen

The Iﬁost fundamental unit of Human
Society is

(1) Government

(2) Man

(3) Family

(4) Church

Who has  defined
"Consciousness of Analogies" ?

Society  as

(1) Davis (2) Maclver

(3) Bierstdt (4) Giddings

Who has said ‘Family is focus point of
transmission of civilizations’ ?

(1) Golden Viser

(2) Taylor

(3) Weber

(4) Sorokin

From the following, in which type of

society the status of women is

comparatively better ?

(1) Industrial society

(2) Tribal society

(3) Agrarian society

(4) Post-Industrial society
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134. Match the following

135.

136.

List1 List IT

(A) Westernization = (i) Mckim
and " Marriot
Sanskritization

(B) Universalization (ii) Robert
and Redfield
Parochialization :

(C) Great-Tradition  (iii) M. N.
and Sriniwas
Little Tradition

(D) Universalisation (iv) Talcott
and Parsons
Particularisation

(v) RK.
Merton

Codes: A B D

(1) ) @ @) (v)

(2) (i11)  @4) (ii) (iv)

(3) (i) Gv) (i) V)

4) v) G @& (iv)

From the following, which one is the
Feature of Industrial Society ?

(1) Face to Face Relation

(2) Economic Competition

(38) Self-centred
(4) Professionalism

Transitional growth means

(1) high birth rate and high death
r_ate
(2) high birth rate and low death rate
(3) low birth rate and low death rate
(4) low birth rate and high death rate
P.T.O.
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139.

140.

141.

...............

(2) AN 3G
(3) 9w arTEReNd &
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(1) g&% a= & qifiis qEd

(2) = B AHRED G qew
(3) F=El F AT
(4) g9 F offANE Yoo

‘el ol oraaRen A fhE e
R 7

(1) THo To fifamE
(2) A= [

(3) ©wHo Hio @

(4) AM9 ST

g ‘et AR fRewe feEr

g7

(1) To R, (2) TH. gaX
3) gEa ad  (4) w9
STfeT @SR §

(1) e (2) wgfd
(3) HEESH  (4) T

138.

139.

140.

141.

.................... is a pull factor prompting
migration.

(1) Prospect of Jobs
(2) New Industry
(3) Pleasant Climatic Conditions

(4) Exhaustion of Natural Sources

Which of the following determine
India’s fertility rate ?

(L

Religious importance of the male
child

(2) Social security value of children
Economic value of children

(3)
(4)

Intrinsic value of children

Who among the following developed
the concept of ‘Dominant Caste’ ?

(1) M. N. Sriniwas
(2) Yogendra Singh
(3) S.C.Dubey

(4) Yogesh Atal

Who coined the term ‘technological
unemployment’ ?

(1) A. Toffler (2) M. \’Véber
(3) Louis Wirth (4) Daniel Bell
By nature, caste is

(1) Arbitrary (2) Balanced

(3) Hierarchical(4) Mobile
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142.

143.

144.

145.

1486.

A

Which among the following States has
the largest population ?

(1) Madhya Pradesh
(2) Uttar Pradesh
(3) West Bengal

(4) Maharashtra

shift in the
distribution of human population in

The most dramatic

modern times is in the growth of
(1) Industries

(2) Cities

(3) Food Production

(4) Economy

The period of colonial history..........
(1) 1858 to 1947

(2) 1800 to 1947

(3) 1885 to 1947

(4) 1790 to 1942

Who is the author of “Wealth
Nations™?

(1) Karl Marx

(2) Adam Smith

(3) Frederick Angels

(4) Samuelson

of

Who has
commodities shows your class’ ?

(1) Adam Smith

(2) Karl Marx

(3) Max Weber

(4) None of the above

said ‘Consumption of

P.T.O.
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147. <4 Hed: BEd HE © 147. Caste is mainly concentrate on
(1) @I Bl e (1) Eating Habits
(2) g " (2) Occupations
(3) W st (8) Common Woréhip
(4) TFEI-god (4) Purity of Blood

148, ‘g QTR GREdd AR FERIS 148. “Social change is now taking place

A emar ¥ off o W W faster than our capacity to adjust to
qee & 17 g7 fpee &er ? it.” Who said this ?
(1) e e (1) Alvin Gouldner
(2) T EET (2) Alvin Toffler
(3) STHIZE e (3) Amitai Etzoni
(4) g I« (4) Daniel Bell
149. R qRad @1 T g ared g 149. The oldest model of social change is
(1) I (1) Evolutionary
CARRIEE (2) Mechanical
(3) &arHsh (3) Dialectical
(4) = (@) Cydlical

150. wiearel & HaRher B A 787 § 150. Empowerment of women 1s not

characterized by

(1) srer-Fefen (1) Selfreliance

(2) GBS Ty (2) Participatory relations

(3) g Bl FrAd (3) Ability to make choices

(4) STIRYA B WY (4) Relationship of Subordination
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